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Student Name (please print):
Student ID No:

Student Signature:
Instructor: O. CRISAN

ECE 2300 — Circuit Analysis — Fall 2000, Section # 02278
Quiz# 1

Monday, September 18, 2000

e

PO NOT OPEN THIS QUIZ BOOKLET UNTIL INSTRUCTED TO DO SO

This quiz has three pages, including this cover page. If you are missing any
page, raise your hand. To complete the quiz you have 20 minutes.

Notes:

1.
2.

3.

[ o

Be sure that your name, ID number and the signature appear above.
The quiz is closed books and notes!!! )

You may use any calculator you choose. .

Along with solving the problem, to receive full credit you must:

a) Show all work needed for solution;

b) Clearly indicate your answer (for example, by enclosing it in a box);

¢) Define all variables and parameters, and label them on the circuit diagram;

d) Show all units explicitly, in intermediate numerical results as well as in final solutions;
¢) Use the proper notations for all quantities.

Do not use red ink. )

Keep in mind that most of the credit for the problem will be given for showing ‘the correct
methods or equations.

This quiz has one problem, and the total number of points is 100.
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************************************************************************************ .

ECE 2300 - Circuit Analysis ~ Fall 2000, Section # 02278, Quiz # 1

************************************************************************************

For the following ¢ircuit calculate the power delivered to the circuit by the dependent current
source iy, and by the independent current source i..

************************************************************************************

¥ with the Ohm's law apfh'ed to Ry, i resv s

| By = - Rytie = - 50x 2= 100/,

[ s
- - -

*) Then g2 5% = 5x(-0) = -500/A].|

- - -

% It def{ned the /wsr'/:‘re Yf#ﬂ”a fo" e ument % .:
on esistane Ro Lsee e 74']””)-
¥ The the KVL aplied #0 the closed /,a,,c;, defined by

resistances Ry and Ra , and with Obms law apphed
to e vesistances ferminal vHage, it resol#t.

Rty —Ret2=0 , that s 104¢ = WQJ ﬂvm where,
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ECE 2300 — Circuit Analysis — Fall 2000, Section # 02278, Quiz # 1

42 0254y, |
x| Then +he KL applied 10 node @ (forvode © ret the fire):

ety =0, thatisi 800 tdi+ 02 =0 > defs Y,

*) Then :fm?/ﬁ: 14e = 4041 = 17400 = 4ooolv/

*J For *he mmm‘ Soured 4,;( and 43-2 an d(ﬁ'ﬂfﬂ/ He
rm-bw r n'maﬁr Jerminal ro/{q]gﬁ af 40@ and ,,]‘32/

Ye!/oecf)W/y (rer Wf?jmj. '
%) Thn the RVL applied # the eft nik choted ok

— afs, +¥G +Ri(g=0 > _:.')ﬂlh = Wy -Reti = dow-dox 400 =

— o

*) fnd the KVL applied do dhe ripht clviecd path.

-'Jg -Wija tWlz=0 => f_’]ﬂﬁz = —’1'031- \’Ja 2 -(-407)+1WW=
- o]
#) Then the power dulfrered by camentrouveag i)

‘ Edﬂqu = of, Ay = (-3900)x(-500) = 4,950,000 Il
e = M 4 = Lioox2 = 8.20000/ |




